
MATHS

BOOKS - DEEPTI MATHS (TELUGU ENGLISH)

HYPERBOLIC FUNCTIONS

Solved Examples

1. If cosh x = 5/4 then sinh 2x =

A. 

B. 

C. 

D. 

Answer: B

W t h Vid S l ti

5/8

15/8

7/8

17/8

https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb
https://dl.doubtnut.com/l/_8lBpOb2laW1Z


Watch Video Solution

2. If sinh x = 3/4 then sinh 3x =

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

61/16

63/16

65/16

67/16

3. If cosh , then tanh x =

A. 

B. 

C. 

2x = 99

5/7√2

7/5√2

5√7/2

https://dl.doubtnut.com/l/_8lBpOb2laW1Z
https://dl.doubtnut.com/l/_PfUOXyzBd39c
https://dl.doubtnut.com/l/_FdvkxLiiVv03


D. 

Answer: B

Watch Video Solution

7√5/2

4. Cosech  (3) =

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

− 1

log(1 + √10)

log( )
1 + √10

3

log(1 + √5)

log( )
1 + √5

3

5. Sech  =− 1(1/5)

https://dl.doubtnut.com/l/_FdvkxLiiVv03
https://dl.doubtnut.com/l/_sgOOwbHdjZ9W
https://dl.doubtnut.com/l/_GS7teuvgX8oB


A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

log(5 + √21)

log(5 + √24)

log(21 + √5)

log(24 + √5)

6. If sinh  = log , then  =

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

− 1√3 (sech θ + tanh θ) θ

π /6

π /4

π /3

2π /3

https://dl.doubtnut.com/l/_GS7teuvgX8oB
https://dl.doubtnut.com/l/_Hypt71HAkmon


Exercise 1

7. log  =

A. Sinh

B. 2 Tanh

C. Tanh

D. Coth

Answer: C

Watch Video Solution

[cot(θ/2)]

− 1(cos θ)

− 1(cos θ)

− 1(cos θ)

− 1(cos θ)

1. cosh 2 + sinh 2 =

A. 

B. 

1/e

e

https://dl.doubtnut.com/l/_Hypt71HAkmon
https://dl.doubtnut.com/l/_95rnEpadszDz
https://dl.doubtnut.com/l/_GnnE8FsDFndC


C. 

D. 

Answer: D

Watch Video Solution

1/e2

e2

2. 2 cosh 3 cosh 5 =

A. cosh 2

B. cosh 8 - cosh 2

C. cosh 15

D. cosh 8 + cosh 2

Answer: D

Watch Video Solution

https://dl.doubtnut.com/l/_GnnE8FsDFndC
https://dl.doubtnut.com/l/_lFkvfBcb4IuE


3.  if

A. sinh x = 5

B. sinh x = 7

C. cosh x = 5

D. cosh x = 7

Answer: B

Watch Video Solution

sinh2x = 70√2

4. If sinh 9 - k sinh k = ( k + 1 ) sinh  k, then k =

A. 

B. 

C. 

D. none of these

3

3

4

9

https://dl.doubtnut.com/l/_489kfIDVNRHL
https://dl.doubtnut.com/l/_xcFyH9KxO3l3


Answer: A

Watch Video Solution

5. cosh  if cosh  =

A. 

B. 

C. 

D. 27`

Answer: A

Watch Video Solution

3θ = 99 θ

3

9

11

6.  =

A. 

(cosh x +sinh x)n

cosh nx + sinh nx

https://dl.doubtnut.com/l/_xcFyH9KxO3l3
https://dl.doubtnut.com/l/_M8aJfRS8nqaz
https://dl.doubtnut.com/l/_OHLZVoFpFRHi


B. tanh nx + coth nx

C. coth nx + sech nx

D. sinh nx + cosech nx

Answer: A

Watch Video Solution

7. 

A. sinh 2x + tanh 2x

B. tanh 2x + coth 2x

C. sinh 2x + cosh 2x

D. 

Answer: C

Watch Video Solution

=
1+ tanhx

1-tanhx

https://dl.doubtnut.com/l/_OHLZVoFpFRHi
https://dl.doubtnut.com/l/_jelcBh17xL28
https://dl.doubtnut.com/l/_YVAs1RYXhyrD


8.  =

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

1 + tanh(x /2)

1 − tanh(x /2)

e − x

ex

2ex / 2

2e − x / 2

9. The value of  =

A. coth 

B. tanh 

C. cosech 

D. sech 

cosh (2θ) − 1

sinh (2θ)

θ

θ

θ

θ

https://dl.doubtnut.com/l/_YVAs1RYXhyrD
https://dl.doubtnut.com/l/_5bbB7h7w6peC


Answer: B

Watch Video Solution

10.  =

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

cosh x - 1

sinhx

sinh
x

2

cosh 
x

2

tanh 
x

2

coth 
x

2

11. 

A. 

= coth 2 , then k =
cosh x + 1
cosh x -1

x

k

1

https://dl.doubtnut.com/l/_5bbB7h7w6peC
https://dl.doubtnut.com/l/_BBS29yDAg3yj
https://dl.doubtnut.com/l/_MXmmhmAAFiNC


B. 

C. 

D. 

Answer: C

Watch Video Solution

−1

2

3

12. If , then tanh  tanh  is equal to

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

= 1
3 sinh 2θ

5 +  4 cosh 2θ
2θ + 6 θ

3

4

5

9

https://dl.doubtnut.com/l/_MXmmhmAAFiNC
https://dl.doubtnut.com/l/_ymlCKPnBmgzZ
https://dl.doubtnut.com/l/_x29P156c45Vo


13.  =

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

+
tanh x

sech x -1 

tanh x

sech x + 1

-2 cosech x

sinh x + cosh x

sech x 

tanh x

14.  =

A. 2 cosech x

B. sinh x + cosh x

C. sech x

D. tanh x

+
cosh x

1 -tanhx

sinh x

1 - coth x

https://dl.doubtnut.com/l/_x29P156c45Vo
https://dl.doubtnut.com/l/_8iDAvFafyN8G


Answer: B

Watch Video Solution

15. If tan A = tan  tanh , tan B = cot  tanh , then tan (A + B) =

A. sinh 

B. sinh  cosec 

C. cosh  sec 

D. cosh  tan 

Answer: B

Watch Video Solution

α β α β

2β cos 2α

2β 2α

2β 2α

2β 2α

16. If , then cos x cosh x =

A. 

coth = 1
tan x

2
x

2

1

https://dl.doubtnut.com/l/_8iDAvFafyN8G
https://dl.doubtnut.com/l/_MlrHJXrqFmRu
https://dl.doubtnut.com/l/_Q6Dwd0PAVbHY


B. 

C. 

D. 

Answer: A

Watch Video Solution

−1

cos2 x

sinh2 x

17. If cosh , then cosh 2x =

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

x = 3/4

15/8

1/8

8/15

17/8

https://dl.doubtnut.com/l/_Q6Dwd0PAVbHY
https://dl.doubtnut.com/l/_fsNf1EXhRDH6
https://dl.doubtnut.com/l/_eHNRLZR5ag0U


18. IF , then find the value of (i) cosh(2x) and (ii) sinh(2x)

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

cosh x = 5/2

21

2

23

2

5√21

2

5√23

2

19. If cosh  then the value of cosh  =

A. 

B. 

C. 

D. none

θ = 3, 3θ

99

89

89

https://dl.doubtnut.com/l/_eHNRLZR5ag0U
https://dl.doubtnut.com/l/_EXHeXBzmYNnI


Answer: A

Watch Video Solution

20. If tanh , tanh  then cosh  =

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

α = 2/3 β = 3/5 (α − β)

9/20

9√5/20

1/9

20/9

21. If cosh  then  =

A. 

x = cos θ,
tanh2

x

2

sin2 θ

2

https://dl.doubtnut.com/l/_EXHeXBzmYNnI
https://dl.doubtnut.com/l/_yM271VRLdD3s
https://dl.doubtnut.com/l/_4Fd4znluPSh9


B. 

C. -

D. 

Answer: C

Watch Video Solution

cos2 θ

2

tan2 θ

2

cot2 θ

2

22. If , then sech x =

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

tanh2 x = sin2 θ

sin θ

cos θ

tan θ

sec θ

https://dl.doubtnut.com/l/_4Fd4znluPSh9
https://dl.doubtnut.com/l/_u19GPXVOGNcq
https://dl.doubtnut.com/l/_EXPUThMCGiEA


23. If coth x = sec , then cosech x =

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

θ

cosec θ

sec θ

tan θ

cot θ

24. If , then cosh 2x =

A. 

B. 

C. 

D. none

tanh2 x = sec θ

tan2(θ/2)

cot2(θ/2)

sec2(θ/2)

https://dl.doubtnut.com/l/_EXPUThMCGiEA
https://dl.doubtnut.com/l/_wiEm2cbFjqlz


Answer: B

Watch Video Solution

25. If cosec x = coth y, then tan x =

A. cosh y

B. sinh y

C. tanh y

D. cosech y

Answer: B

Watch Video Solution

26. If sinh x =  and sin  than cosh x =

A. 

cos θ θ = 2/3

√5/3

https://dl.doubtnut.com/l/_wiEm2cbFjqlz
https://dl.doubtnut.com/l/_J5csA17oIxfL
https://dl.doubtnut.com/l/_glbCLiSYCKAF


B. 

C. 

D. none

Answer: C

Watch Video Solution

√13/3

√14/3

27. If sin x cosh  cos x sinh  then  y =

A. 

B. 

C. 

D. none

Answer: B

Watch Video Solution

y = cos θ, y = sin θ sinh2

cosh2 y

cos2 x

cosh3 x

https://dl.doubtnut.com/l/_glbCLiSYCKAF
https://dl.doubtnut.com/l/_oR6URkceGPlS
https://dl.doubtnut.com/l/_FFhXXoXmb8ec


28. If sin x sinh  then 

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

y = cos θ, cos x cosh y = sin θ cosh2 y + cos2 x =

−1

0

1

2

29. If  then y =

A. tanh x

B. coth x

C. sinh x

D. cosh x

x = log(y + √y2 − 1)

https://dl.doubtnut.com/l/_FFhXXoXmb8ec
https://dl.doubtnut.com/l/_9QjZ0EGXuI9N


Answer: D

Watch Video Solution

30.  is

A. an odd function

B. an even function

C. an even and odd function

D. none

Answer: A

Watch Video Solution

sinh− 1x

31.  =

A. 

sinh− 1(23 / 2)

log(2 + √18)

https://dl.doubtnut.com/l/_9QjZ0EGXuI9N
https://dl.doubtnut.com/l/_n5ALFXjb1LYF
https://dl.doubtnut.com/l/_5f9PLq7MPrET


B. 

C. 

D. 

Answer: B

Watch Video Solution

log(3 + √8)

log(2 − √8)

log(√8 + √27)

32.  =

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

cosh− 1(1)

log = (√2 + 1)

log(√2 − 1)

0

1

https://dl.doubtnut.com/l/_5f9PLq7MPrET
https://dl.doubtnut.com/l/_4ysWayw4Mnpp
https://dl.doubtnut.com/l/_w4irEwfeNydb


33. 

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

2tanh− 1 =
1

2

0

log 2

log 3

log 4

34. =

A. 

B. 

C. 

D. 

tanh− 1(1/2) + coth− 1(2)

log 2

log 3

log 4

0

https://dl.doubtnut.com/l/_w4irEwfeNydb
https://dl.doubtnut.com/l/_9q3p2dAyYifU


Answer: B

Watch Video Solution

35. 

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

sech− 1( ) − cosech− 1( ) =
1

2

3

4

loge( )
1 + √3

3

loge( )
2 + √3

3

loge( )
2 − √3

3

log3[3(2 + √3)]

36. =

A. 

tanh− 1x = a log( ), |x| < 1 ⇒ a
1 + x

1 − x

1

https://dl.doubtnut.com/l/_9q3p2dAyYifU
https://dl.doubtnut.com/l/_APXaUSNZlnVO
https://dl.doubtnut.com/l/_AkPth8LleEyg


B. 

C. 

D. 

Answer: C

Watch Video Solution

2

1

2

1

4

37. If  then x =

A. 

B. tanh 2

C. tanh 4

D. tanh 8

Answer: D

Watch Video Solution

tanh− 1 = 4
1 − √1 − x2

x

tanh(1/4)

https://dl.doubtnut.com/l/_AkPth8LleEyg
https://dl.doubtnut.com/l/_h7wx4PLVxkIx
https://dl.doubtnut.com/l/_Hiwl3ZfDGyaS


38. The value of the expression

 is

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

sech2(tanh− 1(1/2)) + cosech2(coth− 13)

35/9

43/4

35/4

43/9

39.  =

A. 

B. 

C. 

sinh− 1[ − ]
x

√1 − x2

coth− 1x

−coth− 1x

−tanh− 1x

https://dl.doubtnut.com/l/_Hiwl3ZfDGyaS
https://dl.doubtnut.com/l/_81Jgp0mbZxSJ


D. 

Answer: D

Watch Video Solution

tanh− 1x

40. The value of sinh  is

A. 

B. 

C. 

D. none

Answer: C

Watch Video Solution

(cosh− 1x)

√x2 + 1

1/√x211

√x2 − 1

41. If sinh [ 2 Coth x] = 11/60 then x is equal to− 1

https://dl.doubtnut.com/l/_81Jgp0mbZxSJ
https://dl.doubtnut.com/l/_897S7cPgtga6
https://dl.doubtnut.com/l/_J2zizfKI4BV9


A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

−1/11

−11

11

1/11

42. If  , then x =

A. cosh y

B. sinh y

C. tanh y

D. coth y

Answer: B

Watch Video Solution

y = cosech− 1( )
1

2

1

2x√1 + x

https://dl.doubtnut.com/l/_J2zizfKI4BV9
https://dl.doubtnut.com/l/_UCngMg26WjTP


Watch Video Solution

43. 

A. tanh x

B. coth x

C. sech x

D. cosech x

Answer: D

Watch Video Solution

x = log( + √1 + ) ⇒ y =
1

y

1

y2

44. For , Sinh  (cot x ) =

A. 

B. 

C. 

0 < x ≤ π − 1

log( )
cot x

2

log( )
tan x

2

log(1 + cot x)

https://dl.doubtnut.com/l/_UCngMg26WjTP
https://dl.doubtnut.com/l/_6aJUvAkx7IVH
https://dl.doubtnut.com/l/_wKRMutAdZNNV


D. 

Answer: A

Watch Video Solution

log(1 + tan x)

45. Sech  (sin ) =

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

− 1 θ

log tan the
a

2

log sin θ

2

log cos θ

2

log cot θ

2

46.  =esinh − 1 ( tan θ )

https://dl.doubtnut.com/l/_wKRMutAdZNNV
https://dl.doubtnut.com/l/_XuV2BAXq7At5
https://dl.doubtnut.com/l/_sfC34k60CvCh


A. 

B. 

C. 

D. none

Answer: C

Watch Video Solution

sec θ

tan θ

sec θ + tan θ

47. If  k then x =

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

log(5 + √26) = sinh− 1

2

3

6

5

https://dl.doubtnut.com/l/_sfC34k60CvCh
https://dl.doubtnut.com/l/_qKdZzSis3ug6


48. If  then k =

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

cosh− 1k = log(2 + √3)

2

1

6

5

49.  =

A. 

B. 

C. 

log(7 + 5√2)

sinh− 15

sinh− 17

cosh− 15

https://dl.doubtnut.com/l/_qKdZzSis3ug6
https://dl.doubtnut.com/l/_YhTeJjmOPJI1
https://dl.doubtnut.com/l/_t8qbalwlFJIa


D. 

Answer: B

Watch Video Solution

cosh− 17

50. If , then sinh  is equal to

A. 

B. 

C. 

D. none

Answer: B

Watch Video Solution

sinh− 12 + sinh− 13 = α α

3√10 + 2√5

2√10 + 3√5

2√10 + 3√2

51. If  =f(x) =  cosh x + sin h x then f(x1 + x2 + … + xe)

https://dl.doubtnut.com/l/_t8qbalwlFJIa
https://dl.doubtnut.com/l/_xr3e9syK8Wo9
https://dl.doubtnut.com/l/_50g6WKkX5t8x


A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

0

f(x1) + f(x2) + …. + f(xe)

1

f(x1)f(x2)…. F (xa)

52. If cosh x = sec , then x =

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

θ

tan(π /4 + θ/2)

log tan(π /4 + θ/2)

tan(π /4 − θ/2)

log tan(π /4 − θ/2)

https://dl.doubtnut.com/l/_50g6WKkX5t8x
https://dl.doubtnut.com/l/_ptIhxCqgQxhq


53. log  is equal to

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

(x − 1 + √x2 − 2x)(x ≥ 2)

sinh− 1(x − 1)

sinh− 1(x + 1)

cosh− 1(x − 1)

cosh− 1(x + 1)

54. If , then =

A. 

B. 

C. 

x = tanh− 1y loge( )
1 + y

1 − y

x

4x

2x

https://dl.doubtnut.com/l/_ptIhxCqgQxhq
https://dl.doubtnut.com/l/_MkBqLF3N5caz
https://dl.doubtnut.com/l/_kcbT0wvULBSY


D. 

Answer: C

Watch Video Solution

3x

55. If  then  log  =

A. tanh x

B. 

C. 

D. 

Answer: D

Watch Video Solution

|x| < 1,
1

2
( )

1 + x

1 − x

sinh− 1x

cosh− 1x

tanh− 1x

56. If , then x =2sinh− 1( ) = log( )
a

√1 − a2

1 + x

1 − x

https://dl.doubtnut.com/l/_kcbT0wvULBSY
https://dl.doubtnut.com/l/_StWZtc7BCRY1
https://dl.doubtnut.com/l/_LvLB5BjymSfB


A. 2a

B. 3a

C. 4a

D. a

Answer: D

Watch Video Solution

57. If cos  cosh  = 1, then  =

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

α β β

log sec
α

2

log tan α

log (sec α + tan α)

log sin
α

2

https://dl.doubtnut.com/l/_LvLB5BjymSfB
https://dl.doubtnut.com/l/_nm2CrytQ38Fv


58. If x = log  and sinh x = 9 then  =

A. 80

B. 81

C. 82

D. none

Answer: C

Watch Video Solution

(y + √y2 − 1) y2

59. If  then cosh x =

A. 

B. 

C. 

x = log[tan( + )]
π

4
θ

2

sec θ

cosecθ

sin θ

https://dl.doubtnut.com/l/_nm2CrytQ38Fv
https://dl.doubtnut.com/l/_VxO7vaGVcDQx
https://dl.doubtnut.com/l/_9T3tqPLaK5CI


D. 

Answer: A

Watch Video Solution

cos θ

60. If  then sinh x =

A. tan 

B. cot 

C. 

D. 

Answer: C

Watch Video Solution

x = log[cot( + θ)]
π

4

2θ

2θ

−tan 2θ

−cot 2θ

61. If , thensinh− 12x = 2cosh− 1y

https://dl.doubtnut.com/l/_9T3tqPLaK5CI
https://dl.doubtnut.com/l/_H12khCSJrvH8
https://dl.doubtnut.com/l/_XqZpi4qnXbR2


A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

x2 = y2 = x4

x2 + y2 = 4

x2 + y2 = y4

x2 = y2

62. The domain and range of f(x) = coth(x) are respectively

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

R − {0}, R − [ − 1, 1]

R − [ − 1, 1], R − {0}

R, R − {0}

R − {0}, R

https://dl.doubtnut.com/l/_XqZpi4qnXbR2
https://dl.doubtnut.com/l/_Y83UZIDLuDP7


63. The range of cos h(x) is

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

R

(0, 1)

(1, ∞)

(1, ∞)

64. cosh  =

A. 

B. 

C. 

(2iθ)

I sin 2θ

(0, 1)

[1, ∞)

https://dl.doubtnut.com/l/_Y83UZIDLuDP7
https://dl.doubtnut.com/l/_80d4JezKnApL
https://dl.doubtnut.com/l/_GQk4iV5b7HgA


D. 

Answer: B

View Text Solution

(1, ∞)

65. sinh ix =

A. I sin x

B. sin (ix)

C. 

D. 

Answer: A

Watch Video Solution

−I sin x

I sin(ix)

66. If cos ( x+ iy) = A + iB, then A =

https://dl.doubtnut.com/l/_GQk4iV5b7HgA
https://dl.doubtnut.com/l/_FHUyjPaUbhWR
https://dl.doubtnut.com/l/_dlvbMjVlyhVW


A. cos x cosh y

B. sin x sinh y

C. 

D. 

Answer: A

Watch Video Solution

−sin x sinh y

cos x sinh y

67. If  then A =

A. sinh x cos y

B. sin x cosh y

C. cos x sinh y

D. cosh x sin y

Answer: B

Watch Video Solution

sin(x + iy) = A + iB,

https://dl.doubtnut.com/l/_dlvbMjVlyhVW
https://dl.doubtnut.com/l/_9LyXWShBhtAo


68. The real part of sinh  is

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

(α + Iβ)

sinh α cos β

sin α cosh β

sinh α cosh β

cosh α ∈ β

69. If  such that cos z = 2, then z =

A. 

B. 

C. 

z = x + iy

log(2 + √3)

I log(2 + √3)

log(2 + √5)

https://dl.doubtnut.com/l/_9LyXWShBhtAo
https://dl.doubtnut.com/l/_MmbRezd6jLQb
https://dl.doubtnut.com/l/_5MF7qMh0m80B


Exercise 2 Special Type Questions Set 1

D. 

Answer: D

Watch Video Solution

I log(2 − √3)

1.  

A. only I is true

B. only II is true

C. both I and II are true

D. neither I nor II true

Answer: C

Watch Video Solution

I : + +  2 cosech x = 0
tanh x

sech x - 1

tanh x 

sech x + 1

II : + = sinh x + cosh x 
cosh x

1 - tanh x
sinh x

1 - coth x

https://dl.doubtnut.com/l/_5MF7qMh0m80B
https://dl.doubtnut.com/l/_Osd9JcbASNGs


2.  

`"II : coth x = sec " theta" cosech x = sin " "theta"

A. only I is true

B. only II is true

C. both I and II are true

D. neither I nor II true

Answer: A

Watch Video Solution

I : If tanh2
x = sin2 θ  then sech x = cos θ

3. 

A. only I is true

B. only II is true

I : If f(x) = cosh x + sinh x then f(x1 + x2+...+xa) = f(x1) ⋅ f(x2) ⋆ f(x

II : If f(x) = cosh x + sinh x then f(x1) + f(x2)+...+f(xn) = f(x1) ⋅ f(x

https://dl.doubtnut.com/l/_Osd9JcbASNGs
https://dl.doubtnut.com/l/_PosFk2MSvG3u
https://dl.doubtnut.com/l/_rUWIJp0Q2idY


Exercise 2 Special Type Questions Set 2

C. both I and II are true

D. neither I nor II true

Answer: A

Watch Video Solution

1. Ascending order of A = sinh 0, B = cosh 0, C = sech 1, D = cosech 1 is

A. A, B, C, D

B. A, C, D, B

C. B, ,D, C, A

D. D, B, A, C

Answer: B

Watch Video Solution

https://dl.doubtnut.com/l/_rUWIJp0Q2idY
https://dl.doubtnut.com/l/_ut0KYk8aOACD


2. Ascending order of the following 

A) Cosh 2 + sinh 2 

B) cosh 2 - sinh 2 

(C ) cosh 0 + sinh 0 

(D) 

A. A, B, C, D

B. B, C, D, A

C. D, B, C, A

D. A, B, C, D

Answer: C

Watch Video Solution

(cosh 2 − sinh 2)2

3. Ascending order of 

(A)  sinh− 1

https://dl.doubtnut.com/l/_ut0KYk8aOACD
https://dl.doubtnut.com/l/_K1xs88WIF3nV
https://dl.doubtnut.com/l/_3sSYbfkLQcwv


(B)  (1) 

(C )  

(D) 

A. A, B, C, D

B. B, C, A, D

C. B, D, C, A

D. D, B, A, C

Answer: B

Watch Video Solution

cosh− 1

tanh− 1 1

2

sech− 1 1

2

4. If A = . 

  then

A. 

B. 

C. 

tanh− 1(1/2) + coth− 1(2), B = sinh (cosh− 19)

C = sech2 (tanh− 11/2) + cosech2(coth− 13)

A < B < C

A < C < B

B < A < C

https://dl.doubtnut.com/l/_3sSYbfkLQcwv
https://dl.doubtnut.com/l/_hauJ11xopRCA


Exercise 2 Special Type Questions Set 3

D. 

Answer: A

Watch Video Solution

B < C < A

1. 

A. a, c, d, e

B. a, d, b, e

C. d, a, e, b

D. d, a, b, c

https://dl.doubtnut.com/l/_hauJ11xopRCA
https://dl.doubtnut.com/l/_FaGRyrlcr0YH


Answer: C

View Text Solution

2. 

A. b, a, e, c

B. b, a, c, e

C. b, c, a, e

D. a, b, d, e

Answer: A

View Text Solution

https://dl.doubtnut.com/l/_FaGRyrlcr0YH
https://dl.doubtnut.com/l/_tf6VHhbxKq4O


Exercise 2 Special Type Questions Set 4

3. 

A. c, a, b, d

B. a, c, b, d

C. a, c, d, b

D. c, a, d, b

Answer: D

View Text Solution

1.  A : cosech− 12 = loge( )
1 + √5

2

R : cosech− 1x = loge[ ]
1 + √1 + x2

2

https://dl.doubtnut.com/l/_zEgvWQJzRkPW
https://dl.doubtnut.com/l/_pFa6NNLIZCw1


A. Both A and R are true and R is the correct explanation of A

B. Both A and R are true but R is not correct explanation of A

C. A is true but R is false

D. A is false but R is true

Answer: A

Watch Video Solution

2. A : If tanh 5 sinh  = cosh 10 - then  = 10 

R : cosh  - 1 = 

A. Both A and R are true and R is the correct explanation of A

B. Both A and R are true but R is not correct explanation of A

C. A is true but R is false

D. A is false but R is true

Answer: C

θ θ

2θ 2 cosh2θ

https://dl.doubtnut.com/l/_pFa6NNLIZCw1
https://dl.doubtnut.com/l/_vNmmKifJic2C


Watch Video Solution

3.  

A. Both A and R are true and R is the correct explanation of A

B. Both A and R are true but R is not correct explanation of A

C. A is true but R is false

D. A is false but R is true

Answer: A

Watch Video Solution

A : If sinh− 1
√3 = loge(sec θ + tan θ), then θ = π /3

R : If tan θ = √3, sec θ = 2 ⇒ θ = π /3

https://dl.doubtnut.com/l/_vNmmKifJic2C
https://dl.doubtnut.com/l/_5sWdELMHM0Uh

